SI.No. : i Rell No.

HENEERN

e ot Primed bepen 5-09-Mathematics
et afien, 2022
SECONDARY EXAMINATION, 2022
nfura
MATHEMATICS
|G : 2V w02
quTiah : 80

wiitis] & ftrg v e -
GENERAL INSTRUCTIONS 10 THE EXAMINEES -

1) e wfgum 393 o 3 o e s G |

Gug -3

m- (1) = waEt & IR o 98 Rew auw o= I ufems § R

(1) @ uaTEE quife &1 HCF @ LCM 13 3fk 182 8,31 T qotias 26

2 at T yuifes wma Fifeig-
(31) 78 (@) N
() 13 (@) 52

HCF and LCM of two positive integers are 13 and 182, if one

integer is 26 then find the other integet

(a) 78 (b) 91

(c) 13 (d) 52

(2) afg o 3R B FgUS L -Gx+6 & YU € ) dl o +B3-3af & HH
g |

(31) -13 (@) 13

(@) -23 (%) 23
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If aand B
O are zeroes :
value of a +B-3ap W“?L?e polynomial x?-5x+6. then the

{a
) 13 ) 13
(€} -23 (d) 23
(3) K & farg 7= & forg aeftazor ax-4y = 9, 2x+Ky =1 EOfC A
gl T8l 6-
(87) -3 (=) 4
(@) 2

\{§J-2

For which value of K
=11 has no solution

the pair of equations 4x-4y = 9 , 2xtKy

(a) -3

als will be imag

(5) AP 10,7400 F130aTTE6 -
(31) 97 (@) 77
@) -77 (z) -87
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A.P : 30th term of 10,7.4,......... s -

(a) 97 (b) 77

(c) -77 (d) -87

(6) 3 & fwar aret g & ey ghn-
(31) 3 @+ /&) 6 &
(&) 1.5 g+t (@) 7 af

The diameter of a circle of radius 3 cm will b€~
(@) 3cm (b) 6 cm
(c) 1.5cm (d) 7 cm

(7) fa (-5.3) CORVEN (S ;_ﬁ{ faf@u |

(31) 5 (<) :>

Write the distance of the nai
- e point (-53)[
3 )} from

the y-axis.
(@) 5 (b) -5
(C) 3 (d) -2
(8) 9sec’A - Ptan’A avray @
(30) 1 W) 9
(9) 8 ’

(@) 0
9sec’A - 9tana s equal to-

a.)1l b.)9
c.)8 d.)O
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(9) Tan60° &1 a5
(3N V3 m{

The )
value of tan’60* will be-

(a) 3 {b) 3

()9 (dyO

(10) 827 3,5,7.4,2,1,2,6,2 & aga -
(30 5 (@) 7
(@ 6 (@) 2

The mode of distribution 3.5,7.4,21,2,6,2 is-

(a) 5 (b) 7

(c) 6 (d) 2

(1) @t 3ferRTer 50-70 @1 @ g gvm-
(31) 60 (=) 55

@ 75 ) 45

The class sign of the class interval 50-70 will be-
(a) 60 (b} 55
(c) 75 (d) 45

(12) PAfAa gean § wmidear & A 8-
(30) 0 (@) 1
@) 2 (@) -1

v

The value of the probability of a certain event is-

(A) O (B) 1
(c) 2 (d) -1
aid- (2) Fres i & gfd @

(1) ARLd 7 ud T PEI I a7 & fﬂl& Julth faflw . et

hgdrdl ¢ |
The approprnate method to
variablesis called ..................

make one variable equal in two

https://www.rajasthanboard.com



(2) AP -1.25,-150,-1.75,. = .#=.?

(3) e fag & fduias ... BR& &

The coordinates of the origin are «++««+-++++

(4) SinA/Cosa= tam
U5) Cot (90"-A) = an i
(6) EgEh A TRABIGIL ...

The formula for finding the mode is -+

u - (3) sifdeyaaaTe e

(1) F@n 65 3R 117 &1 Hgwn ggads 1 R |
Find the greatest common factor of the numbers 65 and 117

(2) fura sgue 71a HifSe Fad et @1 g gd qorame -3 AR 5

& | https://www.rajasthanboard.com

Find the quadratic polynomial whose sum and product of
zeroes are -3and 5

A3) 3+ xP+2x+5 W1+ 2x + x* Ay A |

Divide 3x* + x* + 2x +5 by 1+ 2x+ %’

-(4)@#@Tﬁﬂﬂmﬂ?ﬁqwammﬁs}ﬁaﬁwﬁmmﬂ
ford |

If the larger number is three times the smaller number, then
write this situation in geometric form

(5) faara @iftaeo 2x7 -x -6 = 0 & §el 71 $ifag |
Find the roots of the quadratic equation 2x' -x-6=0

| s BT T o+ 5 +3K 3 TR 61 R s O

2 at k &1 A T R |
of the zeros of the quadratic equation kx? + Ox +3K
their product, then find the value of k

v(é
U
If the sum

is equal to

7) ga & g

Name the large

aﬁmﬁm%@tﬂ

st chord of the circle

afe A fE € |

(8) &g (-5.4) ferst 9d he point (-5, 4) located

Iin which quadrant ist
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-

9) 4CosecA = 5 gt dl CotA &1 °IF I HIIY |
if ACosecA = 5, then find the value of cotA

A10) Cosec?@ - Cot’0 @AM faf@g: 4
Write the value of cosec’d - Cot’8

I @27 3,4.6,0,2,5 1 A1eAH A HIT |
Find the median of the distribution 3,4,6,0,2.5

(12) Y& g A 3 @ 15 da @ 2 | 39 IR 7 @ Uah d anefda
\ﬁwﬁaﬁ#naﬁqﬂaﬁﬁmmﬁaﬁuﬁmmaﬂ1

box contains numbers from 3 to 15. One number is drawn

at random from this box. Then find the probability of getting
a perfect square number

QuUE -4

HEF - (4) V3 T sy e R g B
Prove that v/3 is an itrational number

aa-(5) fZund agua 4x’ - 4x 41 ¥ yares Wi R A e
At @d TUTAKA & HEl Al & ifa By

Find the zeroes of the quadratic polynomial Ax’ - Ax + ) and
check the correctness between the sum and product of

Zeros

g - (6) P YAE aflaut Yim &) niaRun fafa A wut G

V2x+V3y =0

V3x - V8y =0

Solve the | ollowing pait of fineat cquations by substitution
QO A

method °

2x + 3y =0

3x-8y=0
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WA - (7) fars weftentor 3x” - av/3x + 4= 0 R BLIFR I

| = nature of
The quadratic equation 3x" - 4+/3x + 4 =0 Findthe
the roots

- (8) & s arelt fertl @ 3
How many two digit numbers are

A ae 7887
is 787

ARwa R
divisible by 3

- (9) |eieR et 3.8.13..
Which term of AP.3813..

A~ (10) 7 ¥ #ran v ez #ifeg 1 k3R 3 5 & o &
Rvnfora Hifdg |
Draw a line segment 7 cm long. And divide itinthe ratio 3: 5

a-(11) B 3 @ft &1 ¢ qa difag |

Draw a circle of radius 3 cm

o - (12) Batofidia squa sinA 3R tanA @ cotA & oet & ek
g

Express the trigonometric ratios sinA and tanA in terms of
cotA

“gua- (13) af2 tan2A = cot(A-18°) FET 2A U@ gaaeu § dt A

a1 Fra g |
If tan2A = cot(A-18°) where 2A is an acute angle, then find

the value of A

A - (14) U SRARAT 424 &1 91w S ¢ 3 agelas 8 @ at W I

HIfAT |
If the mean of a frequency distribution is 5 and the mode is 8,
find the median
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W (15) Prer arfang = Anas wa ffag -
19,25.59,48,35,31,30,32,51 af% 25 &t 52 A e R IQ a =

HVeTeR o1 ATH &G7 gl |
Find the median of the following data -

19,25,59,48,35,31,30,32,51 If 25 is changed 10 52 then what

will be the value of new median

- (16) qaimﬂaftz’!m%aﬁma&aﬁmu’lﬂamﬁﬁnﬁﬁﬁ
rq HIfAT |
Find the probability that
is thrown twice

the sum of the digits is 8 when a die

Qrs-¢H

~HY-(17) 0 MR 50 & ot ) ey wzamaf @ GhTEe TTd HIAT |
Find the sum of odd numbers between 0 and 50

IHyar/ OR

,636 BT UTE a3 & AT AP : 9,17,25......% fka ug a3 T |
How many terms of AP :9,17,25......
636 sum

- (18) iz (4,-1) 3R ( -2,-3) @) SiEA ard TEravs &
guRWISIg &< ae el & Adars Fa KT |
Find the coordinates of the points bisecting the line segment

joining the points (4,-1) and (-2,-3)

3rydar / OR

VRg afg e fag (-2.-1). (-1.1). (5,-2) 3R (4,-4) & Had

FAde
Prove that the points (-2,-1), (-1.1), (5,-2) and (4,-4) are

vertices of a rectangle

A= (19) Fe wdafie ! fag HfAg-

(SinA + CosecA )’ + (CosA + SecA )’ =7 +tan'A+ Cot’A

Prove the following identities-

( SinA + CosecA }? + ( CosA + SecA Y =7+ tan’A + Cot’A

3T / OR
g AT -
tan36° tan17° tan54° tan73° =1
prove it -
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4 AR #e & afcta mua wa Hfa

fs _
g (tzglac-t;uﬂ'!‘;‘d mean of the following frequency
Find the a=-

distribution
. | 7085 \ 85-100|
|

25-40 \ 40-55 | 55-70
’20’_\ 44 26\ 34.——j1

Y / OR

fnt sERe dz @ ages wrd BN |
Find the mode of the following frequency disttribution

0-10 | 10-20 | 2030 | 3040 | 40-50 X

(,[10\13\7\“J

QquUs-7
< T (21) P R e gt ot i AR Q g AR -
X+2y=5
2x-y=3

Solve the following pairs of linear equations graphically
Xx+2y=5
2x -y =3

3Hyar / OR

FHIEROM x -y +1= 0 3R 3x + 2y -12 = 0 & 7w FHAY |

Draw the graph of the equations x - y+1=0and 3x+ 2y -12
=0

R~ (22) G 8 Wt &1 Yaravs Wiaaw 38 3 7 % smura # Bl
$ifag

Draw a line segment of 8 cm and divide it in the ratio 3 - 7

HYdl / OR

¥

sﬁrﬂﬁméﬁt{aaqamﬂiﬂa’l a1l Rl difaw, s ueR 40° ¥ Foy
R ghl gg gt |

https://www.rajasthanboard.com



10 o Lncle of radwis L off wrich are

Diaw Lao tangents
0 1o each ol

pchined at an angle of &

a1 Aruaa Ta AT

fasa apesred) A¢4
ucency distribution

WL LSRR
imedian of 1he tollowing freq

Fing the
f.ife times (in hours) A4()-60 6O -80

Fregquency 25 AR

styar / OR

aa, i A

RIEE BLIARE Aot il 4G
{ollowing frequenc

o of the

y distribution

f-ind the mod

S 20—30|30—40\40—50\50—60\

core
28 42 0 .\
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